Completing square

Rewrite x” + 6x as a square plus another term.

Sol. The coeftient of x 1s 6. Dividing 6 by 2 and squaring 1t gives 9.
X+ 6x=x"+6x+9)-9

=(x+3)*-9

Example 2. work out x2 + 6x - 2.
Sol. x*+6x-2=(x*+6x+9)-9-2=(x+3)-11

Using completing square , solve the following equations.
l. x*-6x+15=(x-p)*+q .Findpandq.
2. x*+6x-5=(xtp)*+q .Findpandq.
3. x*+12x +39=(x+a)*+b .Findaand b .
4., x*+8x +21 =(x+a)*+b .Findaandb .
5. x*+px +17=(x-5)* +q .Find p and q.
6. x*+6x-11=(x+ta)*+b. Findaand b .
7. Solve x?-6x -3=0, Answer will be in the form of P+-qV3.

8. x*+8x-3=(x+a)>+b. Find a and b. Solve 1t by 2 d.p.
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